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6. (a-b+c)a-b-c)E HAMNSHH?

@ —-a?+b%-c?+2ca @ a®-b?+ %+ 2ab
® a®+b%+ 2 +abe @ a®-b?-c?+ 2bc
©a2+b2—c2—2ab

~&B

(a=b+c)la-b-c)
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=(a-b)*-c?
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7. O f(x)E 207 +3x+ 22 YEIAEY 5ol 3x—4 0], Y27}
2x + 50|t} o] o, £(1) 9] gh2?

-1 @o ®1 @ 3 ® 5

B

flx) = (2x® + 3x + 2)(3x — 4) + (2x + 5)
=6x3+9x% +6x—8x> - 12x—-8+2x+5
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fA)=2+3+2)(3-4)+(2+5)=-T+7=0
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® (x+2)(xP-2x+4)=x3+38
Q(XQ_xy+y)(x2+xy+y2) :x4_x2y2+y4
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o] A sh= 44 a, bell st a+ b 2] 327
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(2% + ax + 2)(x? + bx + 2)

= x5 +bx* + (a+2)x® + (ab + 2)x* + (2a + 2b)x + 4
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x+y=2 3+ =ULd W, 2 F A &= A2

D xy=-1

@x5 +y5 =86

@ x*+y*=6

® xt4+y'=34

® x5 +y° =198

~&B

O x*+y>=(x+y)°

14 = 23— 3xyx 2
Soxy=-1

@ x2+y? = (x+y)? - 2xy°llAl
¥ +y?=22-2(-1)=

@ x4yt = (x2 + y2)2 — 2x2y2 of| A

@x5+y5=(x +3)(x° +3%) -
Py =6x14- (-1
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